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Why did Cinderella get kicked off of the baseball team?
Because she ran away from the ball!

Divide these numbers.

1L 49+7= 8. 7+7= B 21+7=
2. 63 +7= 9. 77 +7= % 70+7=
3 BB+7= 0. 28+7= 3. 35+7=
4 42+7= 2l. 84 +7 = B 14+7=
5. 7+7= 2. 7+7= 39. g3+ 7 =
6. 77 =7 = 23. 49 =7 = 40. 70+ 7 =
7. 28+7= 24. 7+ 7= al. 21 +7=
8 5§+7= %5 14+7= 2 7+7=
9. 727 = 26. 7 +7= BT =T =
10. 84 =7 = 271. 35+ 7 = 4. 7 = 7 =
1. g3+ 7 = 28. 7+7= o 21+7=
2. 84+7= 2 70+7= 14 +7 =
13. 42 +7 = 30. 49=7 = ar. 7 =7 =
4. 147 = 3. 77 = 48. 7 =7 =
15. 98 = 7 = 32. g3+ 7 = 9 21+7=
6. 77 =7 = 38. =7 = 50. 7 -7 =
17 49 = 7 = 34. 7 -7 =
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Why did Cinderella get kicked off of the baseball team?
Because she ran away from the ball!

Divide these numbers.

1L 49=7= 8 7-7=1 % 21+7=3

2 63+7= ¥ 77+7=11 %% 70+7=10
3 56+7=8 20. 28+7 =4 3. 35+7=5

4 42+7=6 2. 84 +7=12 8 14+7=2

5. 7+7=1 2. 7+7=1 ¥ 63+7=9

6 T7+7=11 3. 49+7=17 0. 70+7=10
. 28+7=4 24 7+7=1 4. 21 +7=3

8 B5g+7=28 25 14+7=2 2. 7+7=1

9. 7-7=1 6. 7+-7=1 BT7T+-7=11

0. 84+7=12 21. 35+7=5 Mo7+7=1

1. g3 =7=0 8. 7+-7=1 . 21+7=3

12 84+7=12 29 70 +7=10 o 14+7=2

18. 42 -7=6 30. 49+7=17 . 7T+7=1

4 14+7=2 TT+T7=1 oT=T=1

15 298+ 7 =4 2. 3+7=09 49 21+7=3

6. 77 =7 =11 38. 5g=-7=18 0. 7+7=1

749 +7=7 MoT7+7=1
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